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Boy: Oh no! I really don't like the fish at this restaurant.

Girl: Don’t worry,

(A)  you can ask for chicken instead.
(B you don’t have to come fishing.
(C) you should try the chicken anyway.

(D you won't like the fish.

Boss: Please turn the lights off when you leave.

Worker:

(A) 1 will leave at 5 o’clock.
(B OK. TIll be sure to do that.
(C) Sure. You're welcome.

(D You're right. It’s too bright.

Person 1: Excuse me,

Person 2: I'm sorry — I'm not sure.

(A) are you Mr. Brown?

(B can you please pass the salt?

(C) can you tell me where the library is?

(D) will you please stop talking so loudly?

Friend 1: Are you coming to Helen’s birthday party?
Friend 2:
(A) 1 wish I could, but I will be out of town.

(Bl No. I first met Helen at the meeting.
(C) The birthday party was wonderful.
(D) Yes. I'm having Helen over.

__.1_
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Colleague 1:

Colleague 2: Nothing. I'm totally fine!
(A)  Congratulations on your new job.
(B Have you paid the fine?

(C) How are you?

(D) What’s wrong with you?

Husband: Why don’t you put the book down and finish reading it tomorrow?

Wife:

(A)  Because the book sold very well.
(Bl Because I finished reading it.
(C) Because I can’t wait to know the ending.

(D) Because I'm waiting to buy it.

Friend 1: Are you looking forward to the weekend?

Friend 2:

(A) No. I don’t understand why it happened.
(Bl No. We went there only once.
(C) Yes. We are already packed.

(D) Yes. We really enjoyed climbing mountains.

Husband: Do you want Thai food for dinner today?

Wife:

(A) But we ate Thai food yesterday.
(Bl Let’s go to Thailand.

(C) See you at 10:00 a.m.

(D) Thai food is from Thailand.

OM1(261—3)
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Cashier:

Customer: No, I have my own bag.

(A) Is this plastic bag too expensive?

(Bl What kind of bag would you like?

(C) Would you like a plastic bag for 3 yen?
(D Would you like to try a larger bag?

Son: Does life exist on other planets?

Father: There are billions of planets,

(A) but only 8 in our Solar System.
(B) including Jupiter.
(C) like that one.

(D) so it could.

OM1(261—4)
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(D There is a high probability of rain on Wednesday.
(A)  amount
(B) chance
(C) problem
D rate

120 My professor always said that curiosity and working hard will lead to
success.
(A) trying not to fear
(B) trying to be smart
(C) trying to get knowledge

(D trying to have luck

(I3 Kevin humbly accepted the award.
A excitedly
(B modestly
(©  proudly

D simply

(14 This weekend, she needs to take it easy after a very active week at work.
(A) clean up
(B) finish working
(C) relax her mind

(D) stretch

— 4 — OMI1(261—5)
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I met my friend for dinner, and his skin looked very pale.
(A)  dark

(B) healthy

) light

(D) sunburned

After building the house, he had to shop for appliances.
(A) home permits

(Bl home computers

(C) household devices

(D) household furniture

He cautiously asked everyone to keep the information secret.
(A) carefully

(B logically

(©) quietly

(D) seriously

The driver wanted to avoid the traffic jam.
(A) clear up

(B prevent

(C) stay away from

(D) take part in

The car technician adjusted the brakes.
(A) cleaned

(B fixed

(C) installed

D removed

OM1(261—6)
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@3
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This product was available only in Europe.

(A) abolished
(B) criticized
(C) repaired

D sold

The average score of class A was noticeably better than that of class B.

(A) merely
(B occasionally
(C) significantly
(D slightly

The teacher divided the cake equally.

(A)  baked
(B) cut

(€ liked
D) mixed

I have been feeling tired lately.
(A) at night

(B) finally

(C) recently

(D) this evening

The breeze felt cold against my face.

(A) gentle wind
(B) snow
(C) strong rain

(D) typhoon

OM1(261—T)
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I need to negotiate with my client.
(A) discuss

(B) go out

(C) practice

D work

We should not forget the tragedies of the past.
(A) disasters

(B) life savers

(©) predictions

(D) volunteers

The artificial lake in Disneyland is quite beautiful.
(A efficient

(B} previous

(C)  unnatural

D vital

You are allowed to register for multiple computer courses.

(A give up
(B take
(C) teach

(D) transfer

The meeting was put off because of the terrible weather.
(A) assigned

(B) contrasted

(C) investigated

(D) postponed

OM1(261—8)
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My boss is a thoroughly reliable man.

(A} completely
(B) hardly
(C) necessarily

(D) sometimes

OMI1(261—9)
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I will participate the triathlon.

(A) for

() on
(D) with

If you could own any car, which one _____ you choose?
(A) can

(B} could

€) must

D) would

Yesterday morning, she ___ for the final time before the concert.
(A) has practiced

(B is practicing

(C) practiced

(D) practices

runner finishes the race first will win the gold medal.

(A) However
(B Whenever
(C)  Whichever
D) Whoever

— 9 — OMI1(261—10)
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This year was _____ than last year.
(A) most warm

(B)  so warm

(C) warmer

(D) warmest

The floor should _ once a week.
(A)  be cleaned

(B) clean

(C) cleaning

(D) have cleaned

What's the most ____ topic in your opinion?
(A) interest

(B) interested

(C) interesting

(D) interests

____computers had their operating systems updated.
A) Al

(Bl Almost

(C) Each

(D) Everyone

Mr. Smith ___ forgets to water his plant.

(A) before

(B) ever

(©) often

(D) tomorrow

OMI1(261—11)



@) The children enjoyed comparing their new toys

@2

(A) at themselves
(Bl for each other
(C) for themselves

(D) with each other

We will have to have the roof
(A) fix

(B) fixed

C) fixing

D to be fixed

Ellen said Jim ___ to New York.
(A) had never been
(B) has been never
(C) was never gone

(D) went never

Bring me a cup of coffee, ?
(A) are you
(B) do you

(C) should you

(D) will you

My brother never allows me
(A) a use of

B to use

C) use

(D using

his car.

OM1(261—12)
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There is no use

(A) shout at him
(B) shouting at him
(C) to shout at him

(D) to shouting at him

One of the boys __a lie.
(A) are telling

(B) is telling

€ tell

D telling

How foolish __ such a thing!
(A)  him said

(B) him to say

(C) of him to say

(D) to him saying

My grandmother had _ from Italy.
(A) three carton of furniture

(B) three furniture

(C) three furnitures

(D) three pieces of furniture

Where is the computer ___ the sticker on it?
(A) has

(B)  of having

(© that has

(D) what has

— 12 — OMI1(261—13)
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Although he is over 80 years old, heis
(A) already

(B} anymore

(C) once

D) still

He has been the president
(A) during 20 years before

(B) for 20 years

(C) since 20 years

(D) while 20 years

He __ to the station at 7 a.m. every day.
(A) has ran

(B) has running

(C) running

(D) runs

My father __ me this fountain pen.
(A) gave

(B) gave for

C) give

(D) give to

very active.

I will never forget at the University of Aizu for the past four years.

(A) studied
(B) studying
C) to study

D to studying

OM1(261—14)
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I to play tennis when [ was young.

(A) am used
(B) am using
C) use

D) used

I was to be at the soccer game.

(A)  excite
(B) excited
(C)  exciting

D) to excite

If I you, I wouldn't try such a risky game.
(A) am

(B) be

C) is

(D were

He failed the exam, and he should have seen that

(A) came
(B} coming
(C) could have come

(D) to come

I can give you a ride,
(A) and

B) if

(C)  otherwise

(D) unless

you want to walk.

OM1(261—15)



60

She looks very

(A) sad

(B sadden

C) sadly

(D) sadness

OMI1(261—16)
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61 Which of the following statements is true?
(A) Some parts of the moon’s surface are covered with water.
(Bl The LADEE spacecraft first discovered that there is water on the moon.
(C) The LADEE spacecraft landed successfully on the moon.

(D) The mission of the LADEE spacecraft was moon exploration.

(62 Which of the topics below is most likely to follow the text above?
(A) dust environment on the moon
(B other moon exploration missions
(C) design of the LADEE spacecraft

(D) water on the moon

— 16 — OMI1(261—17)
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63 Which of the following caused plants to turn brown?
(A) extraordinary winter weather
(B) freeze resistance
(C) local events

(D) some parts of the Arctic

649 Which of the following statements is NOT true?
(A) Plants in the Arctic area brought about the unusual weather condition.
(Bl Some plants in the tundra region turned brown.
(C© The combination of warm weather and rainfall is not good for tundra
plants.

(D) The environment in the Arctic has been changing due to global warming.

=4 I = OMI1(261—18)
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What is the main purpose of the text?

(A) explaining the food likes and dislikes of children

(B) giving advice to parents about feeding children vegetables
(C) giving an interesting recipe to the reader

(D) showing why eating vegetables is healthy

What is implied by the text above?

(A) Children always enjoy eating spinach sandwiches.

(B} Introducing vegetables in other food is a good strategy.
(C)  No children like eating green vegetables.

(D) Some children love eating green vegetables.

— 18 — <OMI1(261—19)



Cornish wrestling is a traditional sport in South West England that helps
develop physical flexibility and strength. While less common than previously,
young children still wrestle at elementary schools in the summer. In a wrestling
match, two people enter into a circle drawn with wood chips, place their hands on

each other’s shoulders and try to push their opponent out of the ring.

67 What best describes a benefit of Cornish wrestling?
(A) Children find it enjoyable.
(B) It continues the tradition.
(C) 1t develops confidence.

(D) It helps improve fitness.

63 What is NOT implied by the text?
(A) Being strong helps wrestlers.
(Bl The loser is pushed from the circle.
(C) The wrestlers draw the ring before entering.

(D) Two wrestlers are in physical contact.

— 19 — OMI1(261—20)
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69 Whiéh of the following statements is true?
(A)  People might be injured but not die due to tornadoes.
(B Some tornadoes are not very destructive.
(C) Some urban areas are hit by tornadoes many times.

(D) Tornadoes are frequently caused by thunderstorms.

(10 Which of the following is NOT a characteristic of tornadoes?
(A) always occurring with rain
(B reaching the ground
() rotating wind

(D) weather phenomenon

(1D The size of the damage by a tornado differs depending on:
(A)  when it was formed.
(B) when it hits.
(C) where it was formed.

(D) where it hits.

— 20 — OM1(261—21)
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(7 Which of the following statements is true about entrepreneurial passion
(EP)?

(A) Dr. Cardon concluded that EP is not measurable.

(B) Dr. Cardon is the first researcher who defined EP.
(C) EP was not studied much.
(D) Many researchers agree on Dr. Cardon’s meaning of EP.

(13 Dr. Cardon believed that entrepreneurial passion (EP) can be:

(A)  easily quantified.

(B generally accepted.
(C) measured.
(D) researched quickly.

(fY) Which of the topics below is most likely to follow the text above?
(A) different types of passionate behavior
(B how entrepreneurs use their passion in business
(C) how entrepreneurial passion positively influences public speaking

(D) other business-related research by Dr. Cardon

= g, == OMI1(261—22)
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(75 Which of the following is true about George Washington?
(A) He was called “Father of America” at 18.
(B} He settled in Virginia around 1732.
(C) He was born around 1732.

(D) He went to school in 1750.

(1) Which of the following is true?
(A) He became interested in politics while farming in Virginia.
(Bl He became interested in politics after working in business.
(C) Politics was Washington’s main interest in life.

(D) Washington continued farming after becoming interested in politics.

(T Which of the following topics would most likely follow the text above?
(A) Washington’s training background
(Bl Washington’s business activities
(C) Washington’s family life

(D) Washington’s political career

— 22 — OMI1(261—23)
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(1 According to the text, how large was the crater?
(A) 45 kilometers wide
(B) 50-100 meters wide
(C) miles wide

(D) unknown

(1% Which of the following statements is true?
(A) A fireball was seen in 1920.
(B An unidentified object was investigated in 1920.
(C) In 2008, the cause was still unknown.

(D) People were shocked by the explosion.

@) Why was no one hurt?
(A) No one was living where the explosion occured.
(B) People were able to escape.
(C)  People stayed indoors at the time.

(D) The explosion occurred in the air.

—= 73 — OM1(261—24)
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Many Japanese people who are attempting to improve their English have
trouble with pronunciation. Some study for many years but still have difficulty
saying even very ) words. When speaking English with people from
other countries, they cannot be understood easily. There are many reasons for
these pronunciation problems, but two of them are more significant than the
others.

The primary reason is that Japanese people often use “katakana English”,
which means that they end up saying more sounds than are necessary. The
Japanese language has five vowels: a, i, u, e, and o, and when people speak
“katakana English”, they insert or add # or o to English words. @) , the
word “and”, which happens to be a very common English word, is pronounced
“ando” by many Japanese. This creates 3  for listeners who are trying to
understand the words being spoken, because they hear more sounds and syllables
than there should be.

B4)  the above, another major cause of difficulty pronouncing English is
word stress. Stressed words in a sentence are the words that stand out more
than the others. In English, this may be signaled by saying a word louder or at a
higher pitch. People also stress words in English by pronouncing them longer
than other words. In Japanese, on the other hand, words have something called
“pitch accent”, which is not the same as English word stress.

But in the end, no matter what the reason is for struggling with English
pronunciation, something to )] is that it is not necessary to sound like a
native speaker. Instead, the most important point is to make sure your

pronunciation is clear enough to communicate smoothly with others.

— B — OMI1(261—25)
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How many reasons are given for English pronunciation problems?

(&)
B)
)
D

complex
difficult
simple

understanding

Altogether
For example
Like this

Such as

answers
efforts
problems

solutions

Because of
In addition to
In order to

None of

forget
keep in mind
solve

talk about

none
two
three

many
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@7 What are two ways to stress a word in English?
(A) say a word louder or longer
(B) say a word longer or with a lower pitch
(C) say a word louder or using katakana

(D) say a word with a higher pitch or like a native speaker

@88 What is “ando” in the second paragraph?
(A) a very common English word
(B) a mistake by the writer
(C) the katakana pronunciation of the English word “and”

(D) the old spelling of the English word “and”

B9 What does the underlined word “Some” (in the first paragraph) refer to?
(A a little bit of
(B} Japanese people
(C) pronunciation

D) words

0  What is the main purpose of this text?
(A) to demonstrate the difference between katakana and English
(B) to explain why Japanese people have trouble with English pronunciation
(C) to say that Japanese people need to sound like native English speakers

(D) to show that English pronunciation is not important
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In the north of England, the number of teenage 1)  fans has increased in
recent years. The public housing areas near the stadium of Manchester United
provide the perfect place for these supporters to meet up. Here, bored young
football supporters meet, have fun, and occasionally get into trouble. At times,
the young troublemakers do something unexpected. For example, on April 1, a
gang of teenage boys was playing as usual before their attention turned to a dog.
They targeted Dawson, a black dog with only three legs.

Although the teen gang didn’t plan their actions, what they did was surprising.
They caught the dog, held it down on the floor and spray painted its body red
and its legs white, the colors of their favorite football team. The dog @)  to
escape, but could not.

As soon as they had finished painting it, two police officers arrived and
shouted at the boys to stop. The youngsters panicked, picked up the empty paint
cans and ran away before the police could catch them. For many animal lovers,
it made them question why there are such people in our society.

Dennis Menace, Professor in Sociology at City University, has been researching
youth gangs and 93 . “I understand their background, they lack family
support, and so increasingly more teenagers are joining sports gangs or even
criminal gangs. The senior gang members are able to control the newer gang
members and get them to do such foolish things.”

Regardless of the problems, these teenagers say they feel the need to belong
to a group of people their own age. Many children feel that their parents do not
spend enough time with them. They feel alone at home, which often forces

09  to find friendship elsewhere.

Overall, we must address the problems young people face and encourage

) to take more responsibility for bringing up their children, spend more
time with them and provide good role models. Teenagers with a strong positive

network surrounding them are less likely to commit such awful acts.

s G = OMI1(261—28)



What does the underlined word “Here” (in the first paragraph) refer to?

(A)
B)
©
D

child
enthusiasm
foothall

open

managed
tried
use

used

asked
commented
knows

terrorism

kids
parents
strangers

teachers

kids
parents
strangers

teachers

in the stadium

London

public housing areas

this article
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O) What does the underlined word “it” (in the third paragraph) refer to?

©9

(o

(A) painting an animal
(Bl playing foothall in the street
(C) police officers shouting

(D) running away from the police

Which cause is mentioned for teenagers joining gangs?

(A) problems at home
(Bl problems at school
(C) problems with friends

(D) problems with money

Which of the following is NOT mentioned about the problem of gangs?

(A)  an example
(B) the cause
(C) the definition

(D) the solution

What is the purpose of this article?

(A) to get parents to take responsibility
(B) to help gangs get more members
(C) to make readers laugh

(D) to tell a story about a dog
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